. <

W1.60) =

51060 =

91060} =

L1601 =4

81.60L

61,601

02,601 ==

1£C.60 1 ==

72,601 ==

QQLL - 30B3

1§C.60 1 ==

192,601 ==

1£2.60 ==

182,60 ==

162,60 =g

10€,60 | =i

11€.60 =

1 2o601 ==

1:CCo60) =1

thEh

Rothiema'y—

VIVindil'
-

Point |

\ A

[ Wrzesinski”

]\.Cdulee

s
3
o

aucer,_

Snhow
S

i~ Coulee
: | "I'epeet.ﬂ"I

|

|

|
e

|
|
|
I f i
e e e — e T

[

a

e
4

Coulee |

) —AS TR NATH
& |
i ,m_c

D
Gi?[]lee

|

f... ._ﬂ.m:_m..._____

— T
1 05 0 1
I . Vil

07 ONVIITYAHY

WGS 1984

ihl

Datum

46°39"

46°38'=

46°37"'=

46°36'=

46°35'=

46°34'=

46°32"

46°31'=

46°30"



